K1859 B

=25 *311I0Iu17l ZalE
*Eﬂsg/xﬂa Stai

lHno

© HEINRICH KIPP WERK GmbH & Co. KG

= 7ot =5 del] 2z 2’0 U

rir

=
=

ZL

IS M
IAE 2E QLA s 85 MR
A r

= o3t L AFStof O|AFRAQ|L|CH.

x4

== -

Si2 AL JHSEUIC RIS AL S el Cl e o2 na
X

|m
_E:
[n
20
>.
|.u
4 T
ok
).
>0
|>
T
_ljl_
i
Ju
ol I
ru
_lT'_
i
|=|H
rlo
J‘l'
n
o
o
[0

°|.D4 9—|IEHE 3t ongﬂ

2ag £ QAL

LICH o1& 28 S0l 22 & A EHoilM -:—EOI ""EF" 7EM 8

IR
dTF L IAE A8
42 NB

0
I
d
f

H
o

3|.o xloE o| H AE’-II ;ﬂE AQRE al-ndgpﬂ
E& A2-Ho= 0|5 %‘;.* Mol 7|22 MxIE

RFRA
=

2 B2t g(of &

shed AY &t ok 2|

IAE B3 &El

HH:

£5 deiool 7telix|e Het2g msok guict

E5 MECt A2IH Sof AXEoZ LIAZ 1HE F2 25 A
Co| XIX|CHE F7te e HEE LII:} 2L S0lM 2 MBIHZ A8
g =5 MBS FA H2IHZ M8stE F2 XIXITHE HE o )
ofoF BfLct

AHAE HEE HIE Helol e x| gh&Lch

ZTX| A,

71= HI0|E:
Z|CH ZHE 2724 500bar.
Egl:
Mzl 22ME BTSHAAIR
XFX.

=.
- S gt 230 0|E
-Chekst T3 b
e BlZE e
-2 E e
-Ee x2] x|$.
-0l Y A A,

www.kipp.com -

info@kipp.com

1/3



K1859_B

°
—_] I A S (=Yool W —| Al AL (e J 3
=& aaiIOIuM 2El Rt S5 ARl A= 2RO UA=ES
E/I:l-
o/ = r
== MY/ME OIDIXI
=0 L.
271 0 (0 & EJX| o4 =i 8) x 7.
HMIA2]:
- X|& 2 E K0307.
- EZ 27|0|E K0282, K0302, K1164, K0287, K0288.
- 7+ a2\ K0386.
S0 Mo,
AY: BYHE U EHUE £ LA ZRIE
BY: HIEH, 5 =2, 0 & EX| AR
C8:gle™ o3 EMx| 442
1) Mx| 224
=M
® B .
_. 63 _|
| ax\ ) N
AY/2 N7/
1ils 98l
{/ar\l
\ N ] ‘/@7
. BT
® G
D1 N D3
Sw D*ﬁ*nz
. :Q L \ '
I L,lTJ | !
||| ; | !
HENEH B
Sl
T -
g
s
NN ]
D5
Z5 9
S5 234 0|EH7I =& E R E5 ARIN, A= 2|BH0| U= SS/ES
FEHS EbQ)  HEH EFY nlla% AEEF HAZA Bl B Bl B3 D D1 D2 D3 D4 D5 G
xI&
K1859.160822021 B SRS 16 8 o ZRMX[HZA. 6040 20 10 11 6,5 6,3x3 4 88 M6x15
K1859.162022021 B CHE 4 16 20 o2 ZTX|4A. 6040 20 10 11 65 6,3x3 4 8,8 M6x15
K1859.200822021 B =R=EN 20 8 o2 Zx|dA. 6040 22 12 11 65 85x3 4 88 M8x16
K1859.202022021 B RSN 20 20 o2 ZX| A, 6040 22 1211 65 85x3 4 88 M8x16
K1859.250822021 B CHE 4 25 8 o2 ZTX|dA. 6550 25 16 14 85 105x4 4 9,8 M10x17
K1859.252022021 B = 2PN 25 20 0B ZAMX|4A. 6550 25 16 14 85 10,5x4 4 9,8 M10x17
K1859.321022021 B =2=3N 32 10 o2 Zx|4A. 7555 27,5 20 18 10,5 125x4 5 9,8 M12x18
K1859.322022021 B [=2=¥N 32 20 o2 Zx|dA. 7555 27,5 20 18 10,5 125x4 5 9,8 M12x18

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/3



°
=4 A II- s (=Xeo] W — Al AN ILT O] —
—lon ] _EE‘HOI-“-'I7I‘ i‘é!'EI 1T|=!' EE Eau_":'l —ﬁ-rél EIE,_"OI N!E 5
= /CI= S
ES2Y
FEHS Ele] EHEIQ] IAE AEZ3J 474 El 2l B B1 B3 D D1 D2 D3 D4 D5 G
&
K1859.401022021 B Chs Al 40 10 o2 ZAMx[ A 8563 31,5 25 18 10,5 16,5x7 5 9,8 M16x27
K1859.402022021 B EtE 4 40 20 o2 ZMX| A, 8563 31,5 25 18 10,5 16,5x7 5 9,8 M16x27
K1859.161612021 B HE4] 16 16 o ZMX|4ZA. 6040 20 10 11 65 63x3 4 88 M6x15
K1859.163212021 B 54 16 32 o2 ZMX| A, 6040 20 10 11 65 63x3 4 88 M6x15
K1859.165012021 B 254 16 50 o2 ZMX| 4. 6040 20 10 11 6,5 6,3x3 4 88 M6x15
K1859.201612021 B 254 20 16 o ZAMX| A, 6040 22 1211 65 85x3 4 88 M8x16
K1859.203212021 B 254 20 32 o EMX|HZA. 6040 22 12 11 65 85x3 4 88 M8x16
K1859.205012021 B 254 20 50 o2 ZMX| A, 6040 22 1211 65 85x3 4 88 M8x16
K1859.252012021 B 254 25 20 o2 ZAMX| A 6550 25 16 14 85 10,5x4 4 9,8 M10x17
K1859.255012021 B 254 25 50 o2 ZMX|H¥A. 6550 25 16 14 85 10,5x4 4 9,8 M10x17
K1859.322512021 B 254 32 25 o2 ZMX| A, 7555 27,5 20 18 10,5 125x4 5 9,8 M12x18
K1859.325012021 B =554 32 50 o3 ZAMx| A 7555 27,520 18 105 125x4 5 9,8 M12x18
K1859.402512021 B S54 40 25 o2 ZMX| A, 8563 31,5 25 18 10,5 16,5x7 5 9,8 M16x27
K1859.405012021 B 254 40 50 o2 ZMX|HZA. 8563 31,5 25 18 10,5 16,5x7 5 9,8 M16x27
24 2380|57} E&HE Ft 25 MG
BT Ef] HEfEIY ZAE AEEF HHI H3 L L1 L2 SW SFs oF=2q Ak
bSE= I|AE HX  100bar 29  100bar B2
(cm?) (kN) (kN)
K1859.160822021 B ==L 16 8 352211 56 64 6 8 2 2 -
K1859.162022021 B Chs 4l 16 20 352211 91 64 6 8 2 2 -
K1859.200822021 B =R=gS 20 8 352211 61 64 7 10 3,1 3,1 -
K1859.202022021 B CHs Al 20 20 352211 95 64 7 10 3,1 3,1 -
K1859.250822021 B ErES 4| 25 8 4530 11 64 86 7 13 49 49 -
K1859.252022021 B ErS A 25 20 4530 1,1 94 86 7 13 4,9 4,9 -
K1859.321022021 B B4 32 10 5535 1,1 75 10,6 10 17 8 8 -
K1859.322022021 B Chs 4 32 20 55 35 1,1 100 10,6 10 17 8 8 -
K1859.401022021 B EtsA| 40 10 63 40 1,1 79 106 10 22 12,5 12,6 -
K1859.402022021 B EE 4 40 20 63 40 1,1 104 10,6 10 22 12,5 12,6 -
K1859.161612021 B 254 16 16 352211 56 64 6 8 2 2 1,2
K1859.163212021 B 254 16 32 352211 73 64 6 8 2 2 1,2
K1859.165012021 B 254 16 50 352211 91 64 6 8 2 2 1,2
K1859.201612021 B 254 20 16 352211 61 64 7 10 3,1 3,1 2
K1859.203212021 B 254 20 32 352211 77 64 7 10 3,1 3,1 2
K1859.205012021 B 254 20 50 352211 95 64 7 10 3,1 3,1 2
K1859.252012021 B =554 25 20 4530 1,1 64 86 7 13 49 49 2,9
K1859.255012021 B S554 25 50 4530 1,1 94 86 7 13 49 4,9 2,9
K1859.322512021 B 254 32 25 5535 1,1 75 10,6 10 17 8 8 4,9
K1859.325012021 B EE4 32 50 55 35 1,1 100 10,6 10 17 8 8 49
K1859.402512021 B SE54 40 25 63 40 1,1 79 106 10 22 12,5 12,6 7,7
K1859.405012021 B 254 40 50 63 40 1,1 104 10,6 10 22 12,5 12,6 7,7
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



